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ORMESE WAL 7,000& = 521 « 108 3,780
02 232234l ,123 A 1,080
Ol3323 % MAl ,523
odIIE= 1,530,000& * 128 ,360
oLLtdstR=a 25,000& = 3CH = 12 900
O4ot=ER=3 31,5008 128 378
os&lgtdate] FIIFA=Z
250,000 * 12 250
O&JIIetd HIIHAZ 500,000 * 12 500
OAYHIIFAR 1,000,000& * 12l ,000
OFAIE2tE A H| 170,000& = 123 ,040
Ot g3l 58,000& * 12l 58
O84S HMel ==& 10,000& * 128 120
Oko=Xsz I L Aol=ER23
360,000& = 123 4,320
OZZd 2¢ JtAH 173,250& = 123 2,079
O Q=X a2t L] 148,500 = 10CH ,485
OstHA BEasr=2 63,0002 * 34 189
OEANAL=ER 225,000& * 23| 450
Ox=ZBAMNE 54,000& * 12l 54
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M BEAMEEX 2
HH: $NSAAL(ZEASSA)
&t JI=3Hl (ctel: &
SN I SRI(S) - NRAY - B 0fl b e B RS2
O=¥3dE A E9H|
350,000& * 304 * 23] 2,100
OREZE &8= 20,000& » 128 240
O[AM&EEI=XIY] 3,600
O&Jl ¥ JIAHIE AI£&Hl =Xl
225,000& * 8& * 23l 3,600
202 O4Hl 3,402 3,402 0
01 =LA b 3,402 3,402 0
O[=2uoibl] 3,402
ORAM2E SHH 3,402,000& * 14 3,402
203 HRFLAH| 3,320 0 3,320
02 FJAANMAHRFAHI 320 0 320
OF PR =LH] 40,0003 = 8¢l 320
04 BEASSEHFRFEHI 3,000 0 3,000
ORN2IHRFAHI 250,000& = 122 3,000
405 KHoHESHI 1,000 3,870 22,870
01 T =SS HSHI 1,000 3,870 N2,870
OS Al Ediol L 1,000,000& *» 14 1,000
2IEY JI=2Z| 8,032 8,100 N68
201 LBt 3| 5,662 5,737 AT5
01 AtS 22l 5,662 5,737 AT5
olger=gtl] 3,100
ORN2Z SHUAL 3,100,000& 14 3,100
Ol=l] 2,562
ORAME2E SHAHA 2,562,000& » 14 2,562
202 O4H| 2,370 2,363 7
01 =Wl 2,370 2,363 7
FAN2E SHAA 2,370,000& * 14 2,370
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